
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUN 10/1 

Pumps
Aussie AUSSIE spares diagram & parts list 

All prices include GST 

AUSSIE GMP PUMPS:  

Part  
Number Qty Description 

Retail 
price 

5342 1 Rubber Gasket 16x35x3  $2 
5465 2 Bearing 6204 2RS  $41 
5466    
5503    
5571 1 Pump Casing B2KQ-A  $820 
5854 1 Valve Body B2KQ-A  $156 
6029 1 Flex. Gasket B 2618  $8 
6186 1 Flex. Washer 33x39x2  $2 
6237 6 Hex. Head Screw M10x20  $5 
6334 1 Mech. Seal 16-32-13  $31 
6346 1 Counterface S 5645  $31 
6994    
6996    
6997    
6998    
6999    

B2KQ-A WITH 2HP ELECTRIC MOTOR  
cat EAAH 

Part  
Number Qty Description 

Retail 
price 

7168    
7176    
7916 1 Stainless Steel Nut M 8  $7 
7917 1 Stainless Steel Washer  $2 
8002    
8018    
8084    
8643    
8650    
8657 1 Motor Mec80 2HP 230V.  $959 
F135  1 Conical Tap ¼” Gas  $22 
F156  1 Stainless Steel Key B 4x4x16  $6 
F379  1 Bronze Impeller  $361 
F401  1 Complete Check Valve  $72 
F553  4 Stainless Steel Screw M10x18  $4 
F555  1 Tap AISI 316 1”G  $116 


